
1.       ? 
(    )
1)    2)  /.   
3)    4) 

2.       
   ?
1)     2)    
3) 1, 2   4)  

3.       
?
1) B= Φ/ℓ 2) B= Φ/A
3) I= Blv sinθ 4)  

4.        
  ?
1)    2)  /2

3)    4) 
5.        

  ?
1)    2)  /2

3)    4) 2  3
6.  =  ?

1) 102 2) 104

3) 10-4 4) 10-2

7.      ?
1) AC   2) DC   
3) AC, DC   4) 

8. DC   ?
1) 0   2) 90   
3) 240   
4)   

9.       ?
1)  ,  
2)  ,  
3)  ,  
4) 

10.         ?
1)    2)       
3)    4)  

11.      
         ?
1)      
2)    
3)      
4)  

12.        
      ?
1)        2)   
3)     4) 

13.      ?
1)    2) AC 
3) DC      4) 2, 3

14.        
    ?
1)   , 
   
2)   ,  
  
3)   , 
   
4)  ,  

15.         
  ?
1)      2) 
3)    4) 

1)      2) 
3)    4) 

17. i      
       
    ?
1) F= ilB   2) F= ilB sin 90
3) F= ilB cos 900

4) F= Bil tan 900

18. 3A     0.3
      
 300     
       = ?
1) 27 N     2) 0.9/2 3) 30.9
4)       


19. F= ilB   
     ?
1) 300 2) 450 3) 600 4) 900

20.        
 450     ?
1) 300 2) F = ilB/2
3) F = ilB/√2 4) F = √3/2 ilB 

21.       
 ?
1)      2)     
3)     4)  

22.     , 
      
   ?
1)       
2)    
3)      4) 1, 2

23.   () ,  
    
      ?
1)    2)  
3)     4) 

24.        
    ?
1)      
2)      
3)    
4)      

25.       
  ?
1)    2) 
3)       4) 

26.     .....?
1)     2)  
3)    4)   

27.      ..... ?
1)    
2)   

3)     4) 
28.   (Φ),   (B), 

 (A),  (θ)  
   ?

29.        
    ?
1)      
2)   
3)       
4)  

30.         
  ?
1)      
2)   
3)       
4)  

31.        
  ?
1)    2)  
3)       4)  

32. B     .....  
 V     ?

33.        
  .....   ?
1) 900 2)    
3) 300 4) 600

34. .......    V  B
   r    
  (   m  
)?

35. 1 .     4 Amp
      4  
         
    ?
1) 4    2) 1   
3) 1    4) 0.1 

36. AC       
     ?
1)      
2)  
3)     4) 

37.        ?
1)      

2)   
3)     4) 

38.      2 ,  
 3 ,      4
      
   ?
1) 7   2) 12    
3) 48    4) 

40.         4
  6     
 emf 2V   6wb
 4wb    emf ......?
1)    2) 2V  
3) 2V   
4)    2V 

41.        
          ?
1)     2)  
3) 1  2    4) 1, 2

42.    
     ?

43.     
      ?

44.     
    ?

45.       
    ?
1) 100P  
2)   ,    
  
3)    
4)    

46.        
     ?
1)    
2)     
3)  emf   4)  

47.        ?
1)     2)  
3)     4) 

48.         
 ?

1)        2)    
3)          4) 

49.         
 ?
1)            2)    
3)    4) 

50.       ?
1)     2)  
3)      4)  

51. 4 A-M     
 0.4    
     
 ?
1) 16N   2) 8N   3) 4.4N   4) 1.6N

52. 50 .     3 
   4 m/s  
       
(  )?
1) 200V   2) 6V   
3) 600V   4) 6.6V

53. 3 .      5 
     
 30V emf   ?
1) 2 Kmph   2) 2 m/s   
3) 20 Kmph   4) 

54.     ......
1)   / 
2) / 
3)  /  
4)  

55.      5   , 
 ?
1) 10πC 2) 3600 
3) 10π   /     
4) 100π  

56.        AC
      ?
1) 1/4   2) 1/2   3) 3/4   4) 1, 3

57. DC        
   ε=0  ?
1) 1/4 2) 1/2
3)    4) 2, 3
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            ( )    . 
 18         (  )  . 

   2025         .
:          ( )   (   )  
 . 40                .

 

25  2025
 8



 
 
9490140420

1-1,   2-3,   3-2,   4-4,   5-4,   
6-3,   7-1,   8-1,   9-3,   10-3,
11-1,   12-4, 13-4,   14-1,   15-2,
16-3,   17-2,   18-4,   19-1,   20-3,
21-4,   22-4,   23-2,   24-1,   25-3,
26-1,   27-4,   28-4,   29-2,   30-1,
31-1,   32-2,   33-2,   34-2,   35-3,
36-3,   37-4,   38-2,   39-4,   40-4,
41-1,   42-3,   43-1,   44-1,   45-4,
46-2,   47-3,   48-2,   49-1,   50-1,
51-4,   52-2,   53-2,   54-1,   55-3,
56-4,   57-4 

  

16.  - ( ) 
  ?

, , 
  

    ,   
     
.    
    ?
1) 2 . - 4 .   2) 4 . - 5 .
3) 5 . - 7 .   4) 1, 3

39.

         ?


